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1. National Clean Air Programme has been launched 
by the Central Government in the year 
(a) 2018 (b) 2017 
(c) 2020 (d) 2019  

RFL —I 

1. uti -c  c4I 4;p;Tf w  
51TT •1ii 1T ? 
(a) 2018 
(c) 2020 

(b) 2017 
(d) 2019 

2. The rulers of which of the following dynasty have 
been called as 'Shriparvatiya' in Puranas? 
(a) Vakatakas (b) lkshvakus 
(c) Shaks (d) Kharvelas 

3. Which of the following Committees recommended 
a poverty line based on nutritional requirements 
exclusively ? 
(a) Alagh Committee 
(b) Lakdawala Committee 
(c) Tendulkar Committee 
(d) Rangarajan Committee 

4. The official 'Agronomai' during Mauryan age was 

related with which of the following field? 
(a) Weight and measurement 
(b) Administrative management 
(c) Construction of roads 

(d) Revenue management 

5. Which of the following indicators is NOT used to 

calculate Human Development Index (HDI)? 
(a) Life Expectancy 

(b) Education 

(c) Per Capita Income 
(d) Social Inequality 

6. Match List - I with List - II and select the correct 
answer using the codes given below the lists: 

List-I List-Il 
(Mahajanpadas) (Capitals) 
A. Matsya 1. Mathura 
B. Kuru 2. Potan 
C. Sursena 3. Virat Nagar 
D. Asmak 4. Indraprastha 
Codes: 

A B C 0 
(a) 4 2 1 3 
(b) 3 1 4 2 
(c) 3 4 1 2 
(d) 2 3 4 1 

A -2- 

2. 
c  

(a) cI4hcb (b) 
(c) :c) (d) 

c -çfrc4) 

(a)  

(b)  ifIrP 

(c)  

(d) iii- ri:IEft 

4.  

(a) 1Tq  a1t d'kf 

(b) ii.i 

(c)  

(d) i'.n 5ER 

. rrr  

(.t.3j) 1f11c1 ;rf i4i '1IdI 
(a) 5ftFf Mc'4FII 

(b) fi 

(c)1i 

(d) iii1  3iHRir 

A B C D 
(a) 4 2 1 3 
(b) 3 1 4 2 
(c) 3 4 1 2 
(d) 2 3 4 1 



11. No. of cities in UP. which are covered under the 
'Smart City' Scheme 
(a) 10 (b) 12 

(c) 15 (d) 18 

A -3- 

8. Given below are two statements, one is labelled 

as Assertion (A) and the other as Reason (R) 

Assertion (A) : We have much more information 

about Cholas than their predecessors. 

Reason (R) The Chola rulers adopted the 

practice of having inscriptions written on the walls 

of temples giving a historical narrative of their 

victories. 
Select the correct answer from the codes given 

below. 

Codes: 

(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 

(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

9. During the mid 80's decade of twentieth century, 
the negative aspects of development were 
discussed at large. Which one among the 
following was NOT such important? 

(a) Degradation of natural resources 

(b) Environment pollution 

(c) Politics and Development 

(d) Displacement and Rehabilitation of masses 

10. Which of the following Indian Archaeologists first 

visited 'Bhimbetka Caves' and discovered prehistoric 

significance of its rock paintings? 

(a) Madho Swaroop Vatsa 

(b) H.D. Sankalia 

(c) VS. Wakankar 

(d) V.N. Mishra 

RFL-I 

7. rn ' I I 

(a) 3T i&I (b) IR IR.c1 RI 

(c) 3Tft I)k( I&I (d) .3lW4 

8. 

k  c4RUI (R)T LIiI 

(A):  4It IT iff j j' 

t 3 3T1-T 'lHl(I I 

ut(R): 1 3Tt 

 T I4 5tR fi 
fu R 

(a) (A)3(R)%3(R), (AY 

o1il i1 

(b)(A) 

oR94f .il 11 

(c)  

(d)  

9. 
  i41 I  

 T[ 

(a) T TT 

(b) 4k'I 5fUT 

(c) tMI c4 ffTT 

(d) -il-1 T 1ThR 1 

10. 1ifti vii 

R 'ff[ 4T' T 3 

(a)  

(b) 1I11I 

(c) 4Icbk 

(d) ThU 

11. 

(a) 10 (b) 12 

(c) 15 (d) 18 

The idea of 'Cultural Poverty' was given by 

(a) Oscar Lewis (b) Gunnar Myrdal 

(C) Aashish Bose (d) Amartya Sen 



RFL —I 

12. Match List — with List — II and select the correct 
answer using the codes given below the lists: 

12. 
-fll f   __ 

List —I 
(Harappan Site) 

A. Balu 
B. Manda 
C. Padri 
D. Hulas 

Codes: 
A B 

(a) 3 2 
(b) 2 3 
(c) 2 4 
(d) 3 2  

List —Il 
(UT/State of India) 

1. UttarPradesj 
2. Jammu and Kashmir 
3. Haryana 
4. Gujarat 

C D 
4 

4 1 
3 1 
4 1 

(A r r) 
A. T9 

B. i-tsi 
C. rr 
D. rr 

A B C 
(a) 3 2 1 
(b) 2 3 4 
(c) 2 4 3 
(d) 3 2 4  

r— II 
( /4Tg 

1.  
2.  
3.ftrruu 
4. iJc1 

0 
4 
1 
1 
1 

16. 

13. The discussion on Sustainable Development'was 
started after submitting a report on environment 
to the United Nation in 1987. That report was 
(a) First Report on Climate Change 
(b) Our Common Future 
(c) Second Report on Climate Change 
(d) Fifth Assessment Report 

14. Consider the following statements and select the 
correct answer using the codes given below: 
1. The Sun temple of Multan is mentioned 

by Hiuen Tsang, Abuzaiyid, Al-Masudi and 
Albe run i. 

2. The pilgrimage to Sambapur was 
associated with Sun worship. 

Codes: 
(a) Only 1 is correct 
(b) Only 2 is correct 
(c) Both 1 and 2 are correct 
(d) Neither 1 nor 2 is correct 

15. The Atal Innovation Mission (AIM) is a flagship 
initiative set up by 
(a) Ministry of Human Resource Development 
(b) NITI Aayog 
(c) Ministry of Social Justice and Impowerment 
(d) Ministry of Science and Technology 

16. Who of the following was sent as representative of 
labourers by Indian Government in the shington 
Summit of l.L.O. in the year 1919? 
(a) V.P. Wadia (b) N.M. Joshi 
(c) CF. Andrews (d) Joseph Baptista  

13.  1987 yi1oi 
3j i- T' (+ii 

 ai 
(a) tft 
(b) 3T 
(c) 'TT t[ ?T rf 
(d) Y11i 4.cjcb.1 3Tf1E 

14. IHf1d fT TU -fl  f n 
d1 

1. 3T1, 

___ ___ I 
2. i)r iT 

(a)r 
(b)2 
(C) 132  
(d)Rt 

15. 3RZ1 (q.a.rq.) f jp 

(a) lTT rri ir  
(b)  
(c) FII13Ic4, ,-I4 t 3f.TTftrr -iiiiq 
(d) f1T t c1h-fl  iiii 

1TtT   ii 1919 

rr 

ni 2T? 
(a) . TftJ 

(c)   ruj 
(b) ft 

A 
-4- 



.17. The book Silent Spring' published in 1962 which 
set the tone for an environmental movement in 
the world, was written by 
(a) Carolyn Merchant (b) Karl Marx 
(c) Rachel Carson (d) Rajgopalan 

18. With reference to the Treaty of "Aix-la-Chapelle 
—1748" which of the following statements is/are 
correct? 
1. The I Carnatic War was ended. 
2. The English got back Madras. 
Select the correct answer using the codes given 
below. 
Codes: 
(a) 1 only (b) 2 only 
(c) Both I and 2 (d) Neither 1 nor 2 

19. VVhich one among the following is NOT covered under 
Integrated Child Development Programme? 

(a) Supplementary Nutrition 
(b) Immunization 
(c) Nutrition and Health Education 

(d) Family Planning 

20. Match List — I with List — II and select the correct 
answer using the codes given below the lists: 

List —I List —Il 

A. Indian Arm Act 1. 1876 

B. Royal Title Act 2. 1878 

C. Indian High Court Act 3. 1869 

D. Indian Divorce Act 4. 1861 

Codes: 
A B C 0 

(a) 2 3 4 
(b) 3 I 2 4 
(c) 1 2 3 4 
(d) 2 1 4 3 

21. Match List—I with List—Il and select the correct 
answer using the codes given below the lists: 

List —I List —Il 

A. Indus Valley Civilization 1. Pastoral 

B. Later Vedic Society 2. Land Lordism 

C. Rigvedic Society 3. Agrarian 

D. Medieval Period 4. Urban  

Codes: 
A B 

(a) 4 2 
C 
3 

D 

(b) 2 I 4 3 
(c) 3 4 1 2 

(d) 4 3 1 2 

RFL- 

17. 1962 McbIld F1 'k-1i$i -  fT' fF 

 n1 

(a) kfli TTZ (b) 

(c) Ii 4R+l (d) &ili'Nk1i 

18. — 1748" 4) fT i fr4 

ti1 

1. -iiPi I 

2. 3 HI 1: Miki 3fl I 

(a) 1 (b) 2 

(c)132i) 

19. W-lIc1 TT 1).4)*ii aii iftcci 
—c1dR? 

(a)  
(b) #icUt 

(c) TZT ITfI 

(d) 'iIR 4'1'31-1 

20. 
-fli

—II 

A. iIftT 31 1. 1876 

B. 1T 31FfRP4 2 1878 

C. mfti i  3TRPI 3. 1869 

D. '4TfPT 1TT [ - c 3fTN 4. 1861 

A B C D 
(a) 2 3 1 4 

(b) 3 1 2 4 

(c) 1 2 3 4 

(d) 2 1 4 3 

21. —I$1fi—Ild Li"4  
1k  

1—II 

A. 1I imi 1. 1RII 

B. w-ii'.i 2. 'i4i1 
C. k* iii 3. 

D. 4. ink 

ABC D 
(a)4 2 3 1 
(b)2 1 4 3 
(c)3 4 1 2 
(d)4 3 1 2 

A -5- 



22. Who had merged Sikkim in India? 
(a) Lord Hastings 
(b) Lord William Bentinck 
(c) Lord Daihousie 
(d) Lord Auckland 

23. Kanpur and Lucknow cities of U. P. became million 
cities as per the census of India in the year 
(a) 1951 and 1961 respectively 
(b) 1961 and 1971 respectively 
(c) 1971 and 1981 respectively 
(d) 1981 and 1991 respectively 

24. Who among the following leaders did NOT 
participated in the Second Round Table 
Conference? 
(a) M.K. Gandhi 
(b) Sarojini Naidu 
(C) Pt. Madan Mohan Malviya 
(d) Dr. Rajendra Prasad 

25. Match List - I with List - II and select the correct 
answer using the codes given below the lists 

List - I List - II 
A. Jajmani 1, North India 

B. Bara Balute 2. Karnataka 
C. Mirasi 3. Maharashtra 
D. Adade 4. Tamil Nadu 

Codes: 
A B C D 

(a)1 2 3 4 
(b)1 3 2 4 
(c)1 4 2 3 
(d)1 3 4 2 

RFL—I 

22.  ffT? 
(a) ii r1 
(b) ii  

(c) ii i1fl 
(d) ii 3iiu 

23. ii cIl.1j RR 14 1T?fr~T 
IiIuIIl T c1Rfl4 R1R 

(a)  
(b)  
(c)  
(d)  

24. f?iPsi rrt 

irr ? 
(a) . T% 

(b) ir-n  
(C) tifti l.4  

(d) Y.  rr 

25. fl—I fl—Il 

A. iii.n4l 

c.Th1r 
D. 34T 

ABC D 
(a)1 2 3 4 
(b)1 3 2 4 
(c)1 4 2 3 
(d)1 3 4 2 

'-I1: 1951 3f 1961 
'-l1: 1961 31h 1971 

i-iF: 1971 afr 1981 
Hr: 1981 1991 

26. Match List—I with List—Il and 
answer using the codes given 

List—I 
(Book) 

A. The Story of My 1. 
Deportation 

B. Gita Rahasya 2. 

C. A Nation in Making 3. 
D. India Wins Freedom 4.  

select the correct 
below the lists: 
List—Il 
(Writer) 
Su rendranath 
Banerjee 
Maulana Abul 
Kalam Azad 
Lala Lajpat Rai 
Bal Gangadhar 
Tilak 

26. 
-fl     i1v: 

ft—lI  (i) 

C. t  H 

D. Rr 

A.  

B. flctI  

A -6- 

Codes: 
A B C D 

(a) 3 4 1 2 
(b) 4 2 1 3 
(C) 2 4 1 3 
(d) 4 3 2 1 

A B C D 
(a) 3 4 1 2 
(b) 4 2 1 3 
(c) 2 4 1 3 
(d) 4 3 2 I 



The concept of 'Marginal Man' was propounded by 

(a) Robert E. Park (b) Robert Redfield 

(c) Louis Wirth (d) Louis Dumont 

RFL —I 

TtTI 'Hfrc1 Ild' (s.11 ) iii 

[114lci 1H 11I 

(a)  ti4 

(c) 

(b)  

(d)  

27.  

28.  28. Who among the following established a modern 

armoury in Dindigal Mysore in 1755? 

(a) Nanjraj 

(b) HaiderAli 

(c) Devraj 

(d) Chikka Krishnaraj 

29. Which one of the following is NOTa major cause 

of Wildlife Extinction? 

(a) Loss of natural habitat 

(b) To make fire in the forest 

(c) Illegal commercial trade of wildlife 

(d) Fast pace of population growth 

30. Given below are two statements, one is labelled 

as Assertion (A) and the other as Reason (R): 

Assertion (A) The British Government 

introduced different land revenue system in 

different part of India. 

Reason (R): It led to create different classes in 

Indian peasantry. 

Select the correct answer from the codes given 

below. 

Codes: 

(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 

(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

31. In August, 2020 Railway Museum in India was 
dedicated to the nation at which of the following 
places? 
(a) Hubballi (b) Mysore 

(c) Silvasa (d) Chittaranjan 

IH1119cI '41 1755 

?f ? 

(a) ii'i 

(b)  

(c) klI 

(d) 1i ulM 

29. i11kd i-u i tcflciuf 

? 

(a) nJit 3TlT T R  

(b) *ii1 3TP1 c'lfll 1I 

(c) II T 31-T IIP4+ oiR 

(d) '*1k1l 

30. 

chIVJl (R)   I1I 

(A): 11T W.4R 311-3P1 W1 

•i \ 4I'tk 3TP1-3W[ ijt 4 

RJ1 (R): 1( ffiFRt 3PT-3P1 

- i 

(a) (A)3(R)%3(R), (A)tt 

O4I9I cMdl 

(b) (A) 31 (R)l- 1T(R), (A)4 il 

ojf .1 'kc1E P 

(c) (AYEt cj (R)1fticl P 

(d) (A)k1dW (R) P 

31. 

(a) (b) 

(c) 114!1I (d) RIk'3H 

A -7- 



32. Consider the following text and arrange them in 
chronological order: 
1. Fatawa-i- Jahandari 
2. Prithviraja-Raso 
3. Kitab-ul-Hind 
4. Tabaqat-i-Nasiri 

Select the correct answer from the codes given 
below. 

Codes: 

(a) 2, 3, 4, 1 
(b) 3,1,2,4 
(c) 4,3,1,2 
(d) 3, 2, 4, 1 

33. Which among the following became the first Arab 
Nation to launch the Mars Mission in July, 2020? 

(a) Saudi Arabia 

(b) Kuwait 

(c) United Arab Emirates 

(d) Qatar 

34. Who was the ruler of Golkonda when Aurangzeb 
seized the fort of Golkonda in 1687? 
(a) Abul Hasan Qutb Shah 

(b) SikandarAdji Shah 

(c) Ali Adil Shah II 

(d) Shayasta Khan 

35. Which of the following neighbouring countries of 

India has banned free internet for social media 
in July, 2020? 

(a) Nepal (b) Bhutan 
(c) Myan mar (d) Bangladesh 

36. Which of the following statement/s is/are correct? 
1. Akbar tried to fix the age of marriage for 

boys and girls. 
2. Akbar gave freedom to girls to marry at their 

own will and not under parental pressure. 
Select the correct answer using the codes given 
below. 
Codes: 
(a) Only 1 (b) Only 2 
(c) Both I and 2 (d) Neither 1 nor 2 

RFL —I 

32. -rid a )I1fl 
ff: 

1. 9T— -5fTt 

2.  

3. --f 
4.  

-n. li1 

(a) 2, 3, 4, 1 

(b) 3,1,2,4 

(c) 4,3,1,2 

(d) 3,2,4,1 

33.  2020 't -ifiP'sii 41—EH H1 

1 4lcii T 3 4J  3TE? 
(a)  

(b)  

(c) cti 3R WfiU?t 
(d) ci<i 

34. 1687 31 TrUT f 
ii ir l Ic+ v.i i 

(a) 3ir :l1 lI 
(b) ft 
(c) airfr ii Il 
(d) lIctl (I1 

35. 

T1I1Fd :klc  1 r%T 
11lNI ? 

(a) 

(c) 4-iii-IIk 

36.  Rf 
1.  

1iTft '* r iii iii ii I 
2.  

(a)q1 (b) 2 
(c) 132c).ji (d) 1 2 

A -8- 



37 

38. 
-ni 1ii: 

-II__ 

) 
1.  

2.  

3.  
4. 14 c) 3TRT—°4 T 

Codes: 
A B C D 

(a) 2 4 1 3 

(b) 3 4 1 2 

(c) 1 3 2 4 

(d) 4 1 2 3 

A 

(a) 2 

(b) 3 

(c) 1 

(d) 4 

B 

4 

4 

3 

1 

C 

I 

I 

2 

2 

. D 
. 3 

: 3 

39.   29 I, 2020 

1ir TT 

(a) (b) 113' 

(d) MIIRI'3I 

(a) 

(b) 1  

(c) - 

(d) Tt 3ff1 - 

40. H-TT  JThT Rt ? 

—3 

RFL- I 

Which of the following statement/S about 'India 

Ideas Summit, 2020' is/are correct? 
1. It was organised by US - India Business 

Council virtually on 22nd July, 2020. 

2. The theme of the Summit was Empowering 
India'. 

Select the correct answer from the codes given 
below. 
Codes: 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2  

37. 2020' 1  

1.  3 1-1TW oIYtk 'th' t&t 

221l, 2020  3i11Ul 

2. 111 (?.ftI) 'T T iI 1cVJI' %fll 

(b)2 

(d) R 12 
(a)11 

(c) I 1 2 4) 

C. Mushrif 

D. VakianviS 

38. Match List - I with List - 
answer using the codes 

List - I 
(Officer) 

A. Diwan-i-Tan 1. 

B. Mustarfi 2. 

II and select the correct 
given below the lists: 

List-U 
(Assign Duty) 

Look after the office 
Maintained a proper 
list of main events 
and firmans 

3. Look after the Jagir 
and Salaries 

4. Examine the income-
expenditure of State 

39. The Uttar Pradesh Cabinet has approved on 29th 
July, 2020 to establish a National Law University at 

which of the following cities? 
(b) LucknoW 

(d) Prayagrai 
(a) Kanpur 
(c) GorakhpUr 

40. Which of the following is NOT correctly matched? 

(a) Shaikh Moinuddin Chishti - Ajmer 

(b) Shaikh Burhanuddin 

Gharib - Daulatabad 

(c) Shaikh Mohammad 

Hussaini - 

(d) Shaikh Nizamuddin Auliya - 

41. Indian Minister of Youth Affairs and Sports 
announced on 25th July, 2020 that in 2021 fourth 

'Khelo India Youth Games' will be hosted by 
(a) Haryana (b) Uttar Pradesh 

(C) Karnataka (d) Maharashtra 

A 

41.
2020 

uij1 fi c4c 2021 
 c 41 

(a) ft1T'11 RI (b) dk S1T RI 

(c) fRZ RI (d) £.l&l Ikl 

-9- 

Gulbarga 

Multan 



47. Which of the following is NOT correctly matched? 
(Summit) (Place) 

(a) East Asia Summit, 2020 
(b) G-20 Summit, 2019 
(c) G-7 Summit, 2019 
(d) EastAsia Summit, 2019 

- Singapore 
- Osaka 
- Biarritz 
- Bangkok 

RFL—i 

47. fr -TT *? 

(a) 'fnrr fF1, 2020 
(b) f -20PF[ 2019 
(C) ff-7pr1 2019 
(d) fiii 2019 

(a)  
(b)  
(c)  
(d)  

46. , i 

II 

(a) 
(c) 

42. 

43. 

(d 

44. 

(a 
(b 
(c 
(d 

45. 4WE 

iir rr t  1u ru ? 
(a) -ft (b) 
(c) .i(_T_fi?I (d) -i-p 

-T ER? 
ZTII rg f j (NASDAQ) 

1R 29ii, 2020 t  
RT? 

a) 
byr1 
c) 1ñ 

T1 

jft r j 

) Wr1I 3TII ii fffr 
3ff3 

2018i 

? 

III 

ggri 

' f 
fk 8 2020 3l4  vrr ? 
'IIti 3 

Tft (m) 3 (g) 

42. Which of the following Mughal period canals, was 
Constructed by restoring the Rajabwah of Firuz 
Shah? 
(a) Shekhnu-Ni (b) Shahab Nahr 
(C) Nahr-i-Bjhjsht 

43. Which of the following Indian Football Club 
became countri's first ever football club to feature 
on NASDAQ billboards in NewYork's1imesqua 
on 29th July, 2020? 
(a) East Bengal 
(b) Churchill Brothers 
(c) Mohan Bagan 
(d) Bengaluru Football Club 

44. Who among the following was the author of the 
book 'Kitab-i-Nauras'? 
(a) lbrahim Adil Shah II 
(b) Ali Adil Shah 
(c) Quli Qutab Shah 
(d) Akbar II 

45. The first 'Kisan Rail' of India started its journey on 
8th August, 2020 between which of the following 
two stations? 
(a) Ghaziabad and Howrah 
(b) Devlali (Maharashtra) and Danapur (Bihar) 
(c) Nasik and New Delhi 
(d) Nasik and Ahmedabad 

46. In which of the following districts of U.P. a major 
solar power plant was established in collaboration 
with France in 2018? 

(a) Agra 

(c) Deoria 

(d) Nahr-i-Agra 

(b) Ballia 

(d) Mirzapur 

48. How many more 'Ramsaj- Sites' were added to 
Uttar Pradesh in January, 2020? 
(a) 3 (b) 6 
(c) 9 (d) 12 

A 

48. 2020,  
irfIi fi ThT? 

(a)3 (b) 6 
(c) 9 (d) 12 

-10- 



49. In which of the following States of India the 
first-ever E-Lok Adalat was started during the 
COVlD-19 period? 
(a) Uttar Pradesh (b) Maharashtra 
(c) Chhattisgarh (d) Bihar 

50. Which of the following tribes is NOT the native to the 
Andaman and Nicobar Islands of India? 

(a) Halchu (b) Rengma 

(c) Onge (d) Shompen 

51. With reference to the detailed report of Tiger 
Census 2018 released by Government of India 
in July 2020, which of the following Statement(s) 
is/are correct? 
1. India has 70% of total global tiger's 

population. 
2. Nearly 30% of India's tigers live outside 

tiger reserve. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) I only (b) 2 only 
(C) I and 2 both (d) Neither I nor 2 

RFL—I 

49. iTr 1it  
3l4i1c1 4'l ? 

(a)  (b) ii 

(c) r1lWi (d) iR 

50. -iiftcci *iiI k-i W 

3fl ICIR ij c  {1  1c4ftfl 

(a) I1.cL (b) ).iii 

(C) 3it (d) 11-1.I 

51. 4RT '1tR Rl '1l 2020 1E1 ituj..0 2018 

1. dI3R1TT70%t I 

2. R?t WTWI 30% 3lWR 

(a)1 (b)2 

(C) 12't (d) I 2 

52. Which of the following rivers is a Trans-Himalayan 

river? 
(a) Jhelum (b) Sutlej 

(c) Ganga (d) Ravi 

53. Which among the following hosted 'Global 

Vaccine Summit' on 4t  June, 2020? 

(a) United Kingdom 

(b) United States of America 

(c) India 
(d) China 

54. Which of the following is NOT correctly matched? 

(Tribes) (Location) 

(a) Angamis - Nagaland 

(b) Birhors - Jharkhand 

(c) Khas - Arunachal Pradesh 

(d) Todas - Tamil Nadu 

55. 'Sarthak' launched in August 2020 by Ministry of 
Defence, Government of India relates to which 
of the following? 
(a) Smart Bomb 
(b) Rocket Launcher 
(c) Offshore Patrol Vessel 
(d) Light Combat Aircraft 

A -11- 

(.1\1I) 

(a)  
(b) f1k

____ 

(c) -( 

(d) )i - 1I1.1l 

55, rr Hl14, 1kcbR i&l 3P1 2020RTiH 

Rii 1' 4iRd TfTT ? 

(a)Hi 
(b) kI  51f 

(c) 3i'i icfl 'ii'i 

(d) -t.ic Ii.ii.i 



56. Match List — with List 
answer using the code 

List—I 
(Lake) 

A. Sala Lake 

B. Badkhal Lake 

C. Loktak Lake 

D. Kaliveli Lake 

Codes: 

A B C D 
(a) 1 2 3 4 
(b) 2 1 3 4 
(c) 1 3 2 4 
(d) 1 4 2 3 

57. Which of the following State Governments has 
started 'Pashu-Kisan Credit Card' Scheme in year 
2020? 
(a) Gujarat (b) Haryana 
(c) Punjab (d) Rajasthan 

58. Given below are two statements, one is labelled 
as Assertion (A) and other as Reason (R): 
Assertion (A) : Ahmedabad is the largest centre 
of cotton textile industry in India. 
Reason (R) : Ahmedabad is located in Major 
cotton growing region of India, so it has no 
problem of raw materials. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

59. On 27th July, 2020 Prime Minister of India virtually 

inaugurated three new Indian Council of Medical 

Research (ICMR) high-end testing laboratories for 

COVID-19 test at which of the following places? 
(a) New Delhi, Kolkata, Chennai 
(b) Kolkata, Noida, Mumbai 
(c) New Delhi, Kolkata, Mumbai 
(d) Chennai, Delhi, Mumbai 

RFL— 

56. 

(*') 
A. iiii ftr 

B.  

C. 4'lc, fti 

D.  

A B CD 
(a) 1 2 3 4 
(b) 2 1 3 4 
(c) 1 3 2 4 
(d) 1 4 2 3 

57. fHI1Pj • 1i kI'4 (1(t'R TJ.jflf jf 

(a) 1(Id 

(c) N 

58. 

Ilkl (R) c41 11T : 
l(A) : & Tf 

I'(u((R): 3HNT *4RT M 'q1T I4 
f , I  ft 
-fl  f  li c ik I 

(a) (A) 3 (R) (R),(A) 
oqft9fl cb(1I 

(b) (A) at (R) (R), (A) t  
OU&4I c1I 

(c) (A) i) fI (R) I1cf 

(d) (A)iicif (R)  

59. 27,202o jp 

(34ft3TR.) —vft 
UT T It ? 

(a) R i, ckic4. ç,  

(b) kiticii, -i'R.i,  
(c) R ft, kiq#cir,  
(d)  

1 

2 

3 

4 

— II and select the correct 
s given below the lists: 

List —il 

(Location) 

Arunachal Pradesh 

• Haryana 

Manipur 

Tamil Nadu 

A 
-12- 



60. Which one of the following is the youngest 
mountain range of India? 
(a) Himadri Range (b) Aravalli Range 

(C) Western Ghat (d) Vindhya Range 

61. Which of the following Airports in Uttar Pradesh 

has been granted International Status on 

24th June, 2020 by Union Cabinet of India? 

(a) Agra Airport 

(b) Prayagraj Airport 

(c) Gorakhpur Airport 

(d) Kushinagar Airport 

RFL —I 

60. i1iftci 4i—ft 4R t -111.1d4 Uft 

(a)1Hift (b) 3J 1J 

(c) TfU  (d) 1i 

61.  

; 4 HHU1 24  2020 et;) aRI4 T 

41ciiT? 

(a) 3R11TT 3ET 

(b) 1iRI's( 3T 

(c) 3t 

(d) ft1R ElT 3T 

62. Match List—I with List—Il and select the correct 

answer using the codes given below the lists: 

List—I List—Il 

(National Parks) (States) 

A. Indravati 1. Jharkhand 

B. Mollem 2. Haryana 

C. Kalesar 3. Goa 

D. Betva 4. Chhattisgarh 

Codes: 
A B C D 

(a) 4 3 2 1 

(b) 4 2 3 1 

(C) 4 1 3 2 

(d) 3 4 2 1 

62. —lft- 

(i'W .mi) 

A. -lc1cll 

B. i1-lH 

C. i& 

D. TT 

A B 

(a) 4 3 

(b) 4 2 

(c) 4 1 

(d) 3 4 

ll 

C 

2 
3 
3 
2 

D 
1 
1 
2 
1 

63. Which of the following countries was NOT elected 
in June 2020 as a non-permanent member of 
United Nations Security Council for the year 

2021-22? 
(a) Ireland (b) Norway 

(C) Mexico (d) Canada 

64. Which of the following are NOT correcUy matched? 
(Mineral) (Mining City) 

1. Copper — Chitradurga 

2. Iron ore — Ballari 

3. Manganese — Bhilwara 

4. Bauxite — Katni 

Select the correct answer from the codes given 
below. 

Codes: 
(a) I and 2 (b) 2 and 3 

(c) I and 3 (d) 2 and 4 

63. 'iRifld   2021-22 

a -Wft 

2020 ? 

(a) 3l4k (b) •ii 

(c) i14) (d) q,-jjf 

64.  
(1i) ) 

1. dlI — rl;1l1 

2.  3TI; (1I) 

3. i11 — 1iiI 

4. kiI. — 

- 1T k1)  I 

(b) 233 

(c) 1 3ft 3 (d) 234 

A -13- 



69. Which of the following Indian Foundations has 
received the Food Vision 2050 prize in August 
2020? 
(a) Smile Foundation 
(b) Naandi Foundation 
(c) Adanj Foundation 
(d) Reliance Foundation 

70. Which one of the following is NOT correctly 
matched? 

(Country) 

(a) Kazakhstan 
(b) Ukrain 
(c) Germany 
(d) France 

(Iron-Ore 
Producing Area) 

- Karaganda 
- Krivoy Rog 
- Normendy 
- Pyrenees 

65. Consider the following statements about New 
National Education Policy approved by Union 
Cabinet of India on 29th July, 2020: 
1. It was drafted by a Committee headed by 

Dr. K. Kasturirangan. 
2. It will replace the previous Education Policy 

which has been followed since last 38 
years. 

Select the correct statement(s) from the codes 
given below. 
Codes: 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 

66. Valley of Kashmir is situated between 
(a) Kangara and Dhauladhar ranges 
(b) Pir-Panjal and Himadri ranges 
(c) Mahabharat and Dhauladhar ranges 
(d) Pir-Panjal and Mahabharat ranges 

67. Which of the following Indian States/Union 
Territories launched Electric Vehicle Policy on 
7th August, 2020? 
(a) Madhya Pradesh (b) Uttar Pradesh 
(c) Delhi 

68. Consider the following tributaries of River Yamuna 
and arrange them from West to East: 
1. Betwa 
2. Ken 
3. Sindh 
4. Chambal 

Select the correct answer from the codes given 
below. 

Codes: 
(a) 4, 3, 1 and 2 
(c) 3, 2, 1 and 4  

65. 29  2020 t lR? flHu.S1 II 
1R 

1. t . +qOH 3TtTT  
RI 4I( t .ft I 

ç'i fl I 

(a)1 (b) 2 
(c) 132).ii (d) 1 1 2 

66. 
(a) c4TI 3fr 
(b) tftrri f 
(c) 'rTT 3 T%T  
(d) — ici aft 1T*'1TtT -iñ 

67. iiftci I/ l* lU 7 2020 
iflfUIT? 

(a) tZmr (b) 3 t 
(c) fft (d) rfci.jr 

68. 

1. c1cU 

2.  
3. ft 
4. w-ici 

[  T I 

(a)4,3,12 (b) 1,2,334 
(c) 3, 2, 1 3h 4 (d) 2, 3, 1 .3fr 4 

1 W?ftT bIuIt 3lTrr 2020 
11t2050JILj ? 

(a) 4Ti bI.uH 
(b) -IF) 1.l)I,3u.1l.l 
(c) 3rTff  
(d) ftn4 9,IUH 

(i) (-j 
(a) iIR-c1H — 
(b) - 
(c) i4-fl — 
(d) Mi - 14Tj;ft 

69.  

70.  

(b) 1,2,3and4 
(d) 2, 3, 1 and 4 

(d) Neither 1 nor 2 

(d) Tamil Nadu 

A
-14- 



First ever containership from Kolkata Port to 
Agartala was sent through which one of the 
following Ports of Bangladesh in July 2020? 

(a) Benapole 

(b) Maloti 

(c) Payra 
(d) Chattogram (Chittagong) 

72. In which of the following regions of the world, the 
production of citrus fruits is well developed? 
(a) Monsoon regions 
(b) Tropical high lands regions 
(c) Mediterranean regions 
(d) Equatorial regions 

73. Who among the following has been awarded with 
the 'Life Time Excellence' Award in Earth System 
Science in July 2020 by Ministry of Earth Sciences, 
Government of India? 
(a) S. Suresh Babu (b) P. L. N. Raju 
(c) S. P. S. Kushwaha (d) Ashok Sahni 

74. Match List—lwith List—Il and select the correct 
answer using the codes given below the lists: 

List — I List — II 
(Tropical cyclones) (Country) 

A. Baguios 1. Australia 

B. Hurricanes 2. China 

C. Typhoons 3. Philippines 

D. Willy-Willies 4. United States 
of America 

Codes: 
A B C D 

(a) 3 4 1 2 
(b) 3 4 2 1 
(c) 2 3 4 1 

(d) 2 1 3 4 

75. With reference to Eutrophication, which of the 
following statement(s) is/are correct? 
1. It decreases dissolved oxygen of water. 
2. It is a phenomenon of nutrient enrichment 

of a water body. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither I nor 2 

RFL— I 

71. k14IdI dçlI 31Ikc11l 1iQ 1T 

Hft1c1i 'iN1 'c1I 2020 1iii?i -iRiRci 

tTI -i 5[P111? 

(a) iili 
(b) Hl1l1 

(c)i
____ 

(d) h.iti (iii) 

72. 
T c1l1 rrd ? 

(a) HHj.-fl ri 
(b) TT( 5ET 

(c) t11I1l4 31T 

(d) T 

73. ft 1TTR Ic14, TR?f z1kI4. IkI 41l 2020 

uII 

d4 cc'.dI' k*ik 14H fti Ni 

(a) 1, ti it (b) 1. i. t. i'4 

(c) TT. . IE. Ic1ll (d) 3ft* 1Tft 

74. 
 Ji 

(i) ( i kitht1 
1.3iR1-lI 

B. 1'ki 2. cfl.i 

C. 3. i'i1 

D. -1lcfl'I 4. EEF 

A B C 0 

(a) 3 4 1 2 

(b) 3 4 2 1 

(c) 2 3 4 1 

(d) 2 1 3 4 

75 1 1.iRsc 

1. I ?IT t I 

2. '1 IIcbI lI 

(a)11 (b) T2 

(c)1124' (d)R12 

A -15- 



(b) Ik TU 
(d) m 

76. &IT 3TffPff 

(a)  
(b)  vff 

Z 

(d) 

77. 111ftd l&1I3 

RFL—I 

rrr  

(b) II, I, IV, Ill 
(d) Ill, l\I, I, II 

78. rr-1ri1 t1-1T IiFI{ 1- HIdIR 

(a) ftm 
(c) ii '-Tm 

79.  T1tfrI 
T in 41R1 

(a) — —ii.i b 
(b) '-r1 

aiq 
(d) *T  

76. Darling range is situated along which of the 
ppoping coasts of Australia? 

(ä) rth-Eastern Coast 
(b) Southern Coast 
(c) Eastern Coast 
(d) South-Western Coast 

77. Arrange the following events in chronological 
order of their commencement: 
I. Project Tiger 
II. Project Elephant 

Ill. Wildlife Protect Act 
IV. Biological Diversity Act 
Select the correct answer using the codes given 
below. 
Codes: 
(a) I, II, Ill, IV' 
(c) Ill, I, II, I\f 

78. Which of the following ocean currents is 
associated with Indian Ocean ? 
(a) Florida current (b) Canary current 
(c) Agulhas current (d) Kurile current 

79. The movement of nutrient elements through the 
various components of an ecosystem is called 
(a) Bio-geo-chemical cycle 
(b) Bio-geological cycle 
(c) Ecological succession 
(d) Biological cycle 

(b) II, I, l\', Ill 
(d) Ill, l\i', I, II 

80. Match List - I with List - 
answer using the codes 

List-I 
(Ethnic Group) 
A. Jews 
B. Teda 
C. Beja 
D. Lur 
Codes: 

II and select the correct 
given below the lists: 

List-Il 
(Country) 
1. Egypt 
2. Iran 
3. Libya 
4. Israel 

A B C D 
(a) 1 2 3 4 
(b) 4 1 2 3 
(c) 4 1 3 2 
(d) 4 3 1 2 

81. Where was the Mitti Bachao (Save the Soil) 
Movement started in India? 
(a) Thane, Maharashtra 
(b) Mysore, Karnataka 
(c) Darbhanga, Bihar 
(d) Hoshangabad, Madhya Pradesh 

A B C 
(a) 1 2 3 
(b) 4 1 2 
(c) 4 1 3 
(d) 4 3 1 

81. ii I31 3TtT cbT 3lT? 
(a) -JRI 
(b) , '4.1k* 
(c) , 

(d)  

D 
4 
3 
2 
2 

A 
-16-. 



Which one of the following is NOT correctly 
matched? 

(Country) (Capital) 

(a) Morocco - Rabat 

(b) Tunisia - Tunis 

(c) Algeria - Algiers 

(d) Cape Verde - Bamako 

83. Without green house effect, the average 
temperature of earth surface would be 

(a) 0°C (b) - 18°C 

(c) 5°C (d) - 20°C 

84. Postmasburg and its adjacent areas of South 
Africa is major producer of which of the following 
minerals? 
(a) Uranium (b) Bauxite 
(c) Manganese (d) Mica 

85. The entire sequence of communities that 
successively change in a particular area are 

called 
(a) Ecological succession 
(b) Sere 
(c) Community dynamics 
(d) Pyramid of biomass 

86. Match List - I with List - II and select the correct 
answer using the codes given below the lists: 

List-I List-Il 

(Mountain) (Country) 

A. Atlas i. France/Spain 

B. KalimanjarO 2. Ecuador 

C. Chimbrozo 3. Tanzania 

D. Pyrenees 4. Morocco 

Codes: 
A B C D 

(a) 4 3 2 1 

(b) 4 1 2 3 

(c) 2 3 4 1 

(d) 1 3 4 2 

RFL—I 

82. -i fTR%? ifft 

() (— 
(a) - 

& Id 

(b)f 1  - 

(c) 3tft1 - 

(d)44 - 
IHI 

83. T MI (fl  T3T ) 
T 31'1W dI'lHI-I 

(a) 0°C (b) - 18°C 

(c) 5°C (d) - 20°C 

1Nc1T 
84. fft 3 3 

i c'I4 

(a) (b) I1I 

(c) 'r413T (d) 

85. T 5i1 TT: l,ck) 

1dI , 

(a) 

1Ic11 

(b) ftTI 

(d) 

86. II 1 

31 IITU
II 

() (vi) 

A. kZTT 1.  
2.  B. 

C. 3. d+1II1I 

4.' D.T1Tfr3T 

A B C 0 
(a)  
(b)  
(c)  

4 
4 
2 

3 
1 
3 

2 
2 
4 

1 
3 
I 

(d)  1 3 42 

87.  
c1I% ?

___ 

(a) 1bi (b) 1tR 

(c)U1 (d) I1{ 

88. wllIi ZT I'it 

(a) W  

(b) cIIl .3c'.41ç'l 

(c) 1~.i iç- 

(d) 1 l4I1 

87. Which of the following natural substances 

contains iron (Fe)? 

(a) Chlorophyll (b) Collagen 

(c) Keratin (d) Myoglobin 

88. In Malaysia, the Kinta Valley' is famous for 

(a) Rubber Production 

(b) Tea Production 

(c) Tin Production 

(d) Coffee Production 

A -17- 



89. Change in the base sequence within a gene is 
called 
(a) Mutation (b) Cloning 
(c) Fusion (d) Breeding 

90. The equator does NOT pass through which of 
the following Countries ? 
1. Gabon 
2. Somalia 
3. Equatorial Guinea 
4. Rawanda 

Select the correct answer using the codes given 
below. 

Codes: 
(a) 1 and 4 (b) 2 and 4 
(c) 2 and 3 (d) 3 and 4 

91. Which of the following is used in fire alarm? 

(a) Photo cell (b) Water 

(c) Solar cell (d) None of the above 

92. Which Part of the Constitution has the provisions 
for Panchayati Raj System? 
(a) IX (b) VI 
(c) Ill (d) VA 

93. Which of the following polymer is NOT a 

thermoplastic? 

(a) Teflon (b) Neoprene 
(c) Polystyrene (d) Polythene 

94. When was the third tier added to Indian Federal 
System? 

(a) 1990 (b) 1991 
(c) 1992 (d) 1993 

95. In human body, the digestion of protein begins in 

which of the following organs ? 

(a) Liver 

(b) Mouth 

(c) Small intestine 

(d) Stomach 

-18. 

RFL—I 

89. 'fi- 3T 3TIg 1IdJ 

(a) 'ckc.i (b) ru 
(c) Ti1i1r (d) s'*ii 

90. -1i1 

2. iiIti 
3. Th 

4.T 

(a) 134 (b) 234 
(c)2a3 (d) 34 

91. 3T4 
? 

(a) tt ki (b) i-fl 
(c)j (d) 

92. f%rrr Pi mi id1  pft 
c4% fi *? 

(a) IX (b) VI 
(c) Ill (d) IV 

93. Pdc—T ,  
'? 

(a) R (b) 

(C)  (d) iifrr 

94. 1T?ffT ic-HcI) ?ftT ii  in ? 

(a) 1990 (b) 1991 

(c) 1992 (d) 1993 

95. 4Hcf
3T 

(a)  

(b)  

(c)  

A 



96. Which of the following is NOT possible by a law of 
Parliament under Article 3 of the Constitution ? 

(a) Formation of new States 

(b) Alteration of areas of States 

(c) Alteration of boundaries of States 

(d) Admission of new States 

97. Use of polished rice in human diet causes 

following diseases 
(a) Rickets (b) Anemia 

(c) Goitre (d) Beriberi 

98. In the removal of which of the following officials 
does the Parliament NOT play any role? 
1. Judges of the High Court 
2. Judges of the Supreme Court 
3. Chairman of the Union Public Service 

Commission 
4. Comptroller and Auditor General of India 
Choose the correct answer from the codes given 
below. 
Codes: 
(a) 1 and 2 only (b) 3 and 4 only 
(c) 1, 2 and 3 only (d) 3 only 

99. Vvhich of the following vitamins is mainly responsible 
for blood coagulation in human being? 

(a) Vitamin K (b) Vitamin E 

(c) Vitamin A (d) Vitamin C  

RFL —I 

96. I1ftd 1l1flT 3' 3 

k 9T IkI 

(a) rt rt T I& 

(byT 
(c) cg fiw3 

(d)  

97. H1 31TT E1R1I fi 

iRiftci 1'I '.311c11 

(a) EjT lI (b) -c1Ic1dl 

(c) 'l-1I (d) tt 

98. Ii i—   c4  I1I 

100. 
T f j a:: f[f?r cii 

(a) I'I1 

(b) iIH 3T11 

(c) fTIT ' c4I1 thl 3tf1ft 

(d) I"-T 1c4IH 3TR1 

101. HH{ f1d 1TR 

1.  
2. f91 1eI4 I 

100. The superintendence direction and control of all 
elections to the Panchayats are vested in 

(a) The Governor 

(b) The Election Commission of India 

(c) The District Panchayat Raj Officer 

(d) The State Election Commission 

101. Consider the following statements about human 
brain 
1. The brain is responsible for regulating the 

heart beat. 
2. It is responsible for balancing the body. 
Select the correct answer using the codes given 
below. 
Codes: 
(a) Only 1 is correct 
(b) Only 2 is correct 
(c) I and 2 both are correct 

(d) Neither I nor 2 is correct 

A -19- 

(a) tT I i) 

(b) 2*i1* 

(c) 132M 
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102.  

RFL - 

102. Which one of the following pairs is NOT correctly 
matched? 

(a) Interstate Council — Article 263 
(b) Finance Commission — Article 280 
(c) Administrative Tribunal — Article 323A 
(d) Union Public Service — Article 315 

Commission 

103. Which of the following substances is obtained 
from a tree? 
(a) Asafoetida (b) Bitumen 
(c) Tincal (d) None of the above 

104. Which Article of the Indian Constitution describe 

the Central Vigilance Commission? 

(a) Article 268 (b) Article 280 

(c) Article 276 (d) None of the above 

105. Given below are two statements, one is labelled as 
Assertion (A) and other as Reason (R): 
Assertion (A): Invert sugar is more sweeter than 
sucrose. 

Reason (R) : Invert sugar is obtained by the 
hydrolysis of sucrose. 

Select the correct answer from the codes given 
below. 

Codes: 
(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

106. Consider the following Chairpersons of the 
National Women Commission 
1. Jayanti Patnaik 
2. Mamta Sharma 
3. Dr. Girija Vyas 
4. Dr. Poornima Advani 

Select the correct chronological order of their 
appointment from the codes given below. 
Codes: 

(a) 2, 1, 3 and 4 (b) 2, 3, 1 and 4 
(c) 1,3,4and2 (d) 1,4,3and2  

— 263 

— 3TIJ 280 

— 323 

— 3315 

103. 1rr(d Mk1 4I '3iidf? 
(a) iii (b) f1Ifld 

(c)mT 

104. WftT TR T cI-1 

34T T v1 9T ? 

(a) 268 (b) 31E 280 

(c) 3* 276 (d) 

105.  

 TT (R)  'i1 
R (A) : a q m 3Tf 

u' (R) : ffq i4  
ni '1I1i ' I 

(a) (A)3 (R)f.ii ) *?t27 (R), (A) 
iT 

(b)  
o4ft9U 1i) 

(c) (A) dci (R) fl1c1 
(d) (A) I1cl (R) i-r 

106. UT T 31TT P 1Rd 3W 
ff: 

1. i5f 
2. -iii 

3. . fiRir ou 

4. T. iji*n 

(a) 2, 1,334 (b) 2,3,134 
(C) 1,3,432 (d) 1,4,3ft2 

A -20- 



107. Match List — I with List — II and select the correct 
answer from the codes given below the lists: 

List—I List—Il 
(Metal) (Property) 

A. Sodium 1. Good conductor 
of electricity 

B. Mercury 2. Liquid at room 
temperature 

C. Silver 3. Poor conductor of heat 
D. Lead 4. Can be easily cutwith kne 

Codes: 
A B C D 

(a) 2 3 1 4 
(b) I 4 3 2 
(c) 4 2 I 3 
(d) 4 1 2 3 

108. Which region of the country conferred special 
status under Article 371-J of the Constitution of 
India? 
(a) Nagaland 
(b) Hyderabad and Karnataka 
(C) Maharashtra and Gujarat 
(d) Ladakh 

109. Which one of the following substances is NOT 
synthetic? 
(a) Fibroin (b) Lexan 
(c) Neoprene (d) Teflon 

110. Which one of the following is NOT correctly 
matched? 
(a) Fundamental Duties -. PartiVA 
(b) The States — PartVl 
(c) Attorney General of India — PartXtll 
(d) Services under the — PartXIV 

Union and States 

111. Match List—Iwith List— II and select the correct 

RFL-I 

107. — I ft - rd ii 
t: 

—lI 
(T) 

A. I1H 1. fç T 31T J4k1 
B.'.ml 

D.fl41I(s) 4.IT ftki1T 
jcc1( 

A B C D 
(a) 2 3 1 4 
(b) I 4 3 2 
(c) 4 2 1 3 
(d) 4 I 2 3 

108. ITft! .Ir%11 371- 3RF1 T 

(a) iiiicu 

(b) iIc 3 1k4 

(c) iu i4id 

(d)  

109. ___ 
(a) iTi (b) c4*ij.1 
(c) f3151h (d) 

110. 

(a)1 — 11TIlV 

(b)  — wiVl 

(c) TRI I — TPT XIII 

(d)  3thT — W1 XIV 

111. —i — Il 
answer from the codes 

List — 
(Substance) 

A. Blue Vitriol 
B. Eosin 
C. Silver iodide 
D. Zinc phosphide  

given below the hsts: 

List —li 
(Use) 

1. Artificial rain 
2. Fungicide 
3. Red ink 
4. Rodenticide 

 I  T[     d1k 
ft —I qfl-ll 

(TI%) (gi) 

A.ftT%T 1.NI 

B. 31TR 2. cI'frIkI1 

C. li 3,4lsis 3. ciii 

D. r  bi*9IS 4. -c1HIft 

Codes: 
A B C D 

(a) 2 3 4 1 
(b) 2 1 3 4 
(c) 2 3 I 4 
(d) 2 4 I 3 

A -21- 

A B C D 
(a) 2 3 4 1 
(b) 2 I 3 4 
(c) 2 3 1 4 
(d) 2 4 1 3 



RFLI 

i11  cti.i-1f? 112. Which is the largest Committee of the Indian 
Parliament? 
(a) Public Account Committee 
(b) Estimates Committee 
(C) Committee on Public Undertakings 
(d) Committee on Petitions  

112. 
(a) i  

(b) MIct1.1  

(c) 11cb  

(d) r 1ri 

113. According to the Report released by NITI Aayog 
in December2019 on 'Sustainable Development 
Goals India Index 2019-20', the Uttar Pradesh is 
grouped under which of the following categories? 
(a) Aspirant 
(b) Performer 
(c) Front runner 
(d) Achiever 

114. Which Articles of Indian Constitution are related 
to citizenship ? 
(a) Article3to 10 (b) Article4toll 
(c) Article 5 tø.11 (d) Article 6 to 11 

115. Which of the following cities of Uttar Pradesh 
is/are covered underthe 'Heritage City Development 
and Augmentation Yojana (HRIDAYy? 
1. Varanasi 
2. Mathura 
3. Prayagraj 

4. Ayodhya 
Select the correct answer from the codes given 
below. 
Codes: 
(a) I only (b) 3 only 
(c) 1 and2 (d) 1,2, 3and4 

116. Given below are two statements, one is labelled 
as Assertion (A) and the other as Reason (R): 
Assertion (A) : The nature of Indian Political 
System embodies the elements of 'continuity and 
change'. 
Reason (R) : The Indian Political System 
contains the elements of the following political 
system such as the modern style, the traditional 
style and saint Style. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(C) (A) is true but (R) is false 
(d) (A) is false but (R) is true  

113. 4II  3TPñ1T ii rw- 2019 iiil '1(1d cj{ 

'ri 4cbi  2019-20' ftq ajn 

(a) 3T () 
(b) 34T SFr (.i'~IH) 
(c) 3Vffi)__ 

(d) rT lI cii ()k) 

114. R3IIftci'f%? 
(a) 3 10 (b) 3:c 4 11 
(C) 3iç 5 11 (d) 3'ç 6 11 

115. 
fq,ir   11iTRT (çq)' 3PfT iifi 

1rTT/1T1/ ? 
1. IU'JftI 
2.  
3. iiwi 

4. 3tT 

(a)i'f1 
(c)132 (d) 1,2,334 

116. 
Uj (R) bi TPTI 

IT (A): TfT 4Jt-II11cb 1U 

'i.-cicii 1 Yici.1' c1r 4I '3II I 
ERUT(R): R Il-TPJ1 Pi  ii-fl1  
i41ii  -ai-rtf ft, -ini *ft rn ir 

ciif I 
.fli  i*i)  frt I 

(a) (A)3 (R)1-  (R), (Ay 
 cb(c11 

(b) (A) 3 (R) -I il i-c (R), (A) t *) 
cI3.1I 

(c) (A).lk  (R)iici 
(d) (A)nict 'c (R)t 

A -22- 



' 
117. What should be Total Fertility Rate (TFR) of a 

population in order to reach at the replacement 
level of fertility? 
(a) 1.0 (b) 1.6 
(c) 2.1 (d) 2.3 

118. What can be the minimum strength of Council of 
Ministers including Chief Minister in the States? 

(a) 10 (b) 12 

(c) 13 (d) 14 

119. Which of the following methods has/have been 
used to estimate poverty in India? 
1. Head Count Ratio 
2. Calorie intake 
3. Household Consumption Expenditure 
4. Per Capita Income 
Select the correct answer from the codes given 
below. 
Codes: 
(a)2and3 (b) 1,2and3 
(c) 3only (d) 1,2,3and4 

120. The Supreme Court of India enunciated the doctrine 
of Basic Structure of the Constitution" in 

(a) The Golaknath Case in 1967 

(b) The Keshavanand Bharati Case in 1973 

(c) The Shankari Prasad Case in 1951 

(d) The Sajjan Singh Case in 1965 

121. With reference to Ayushman Bharat Yojana' which 
of the following statement(s) is/are correct? 
1. This Yojana provides free health insurance 

of Rs. five lakh per person. 
2. The expenses incurred in this Scheme 

(Yojana) is shared between the Centre and 
State in 60 : 40 ratio. 

Select the correct answer from the codes given 
below. 

Codes: 
(a) 1 only (b) 2 only 
(c) Both I and 2 (d) Neither 1 nor 2 

RFL -I 

117. Sl'H1 1k d b 1i '*1d &11 

tii ft 
(a) 1.0 (b) 1.6 

(c) 2.1 (d) 2.3 

118. tIi 9 jfl 41 -1c1H 

wsiTft? 

(a) 10 (b) 12 

(c) 13 (d) 14 

119. 11W il 39flT % H11RSIcI 

? 

1. u.ji 

2. ilO uf 

3. .u1kcit1k  q1i o41 

4. i1i oçi 31B1 

(a)233 (b) 1,233 

(c)r3 (d) 1,2,3a4 

120. W? k1X4 4N1ft1 3T9T " 

(a) ii ic 1967 

(b)  Wtft cii 1973 

(c) iil  1951 it 

(d) i'*i 1i  1965 it 

121. '31tHH %1R?T RT' it  it 
? 

1. [iH1 iPi ci 'i'i cii 

2. iti 
I1lI 60: 40 3JTt it t I 

.n;l  I 

(a)r1 (b)f2 

(c)12-i'I (d)12 

122.  

(a)c39A - 
Mii 1I4c11 

(b) 40 Al4 l.1cl T 4I8-i 

(C) tcI 44 W-{I1 

(d) c 48 E i4i1ii 
lbUI 

122. Which one of the following is NOT correctly 
matched? 
(a) Article 39 A - Equal Justice and free 

legal aid 
(b) Article 40 - Organisation of Village 

Panchayats 
(c) Article 44 - Uniform Civil Code 
(d) Article 48 - Separation of Judiciary 

from Executive 

A -23- 
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123. The main objective of sustainable tourism is 
(a) To increase the number of tourists 
(b) To manage mass scale tourism and small 

scale travel 
(c) To manage tourism and environment while 

maintaining cultural integrity and ecological 
processes 

(d) None of the above 

124. Consider the following statements in the context 
of Attorney General of India: 
1. The President shall appoint a person who 

is qualified as to be appointed a Judge of 
Supreme Court. 

2. The Attorney General shall receive such 
remuneration as the Parliament may 
determine. 

Select the correct answer using the codes given 
below. 
Codes: 
(a) Only 1 is correct 
(b) Only 2 is correct 
(c) Both 1 and 2 are correct 
(d) Neither 1 nor 2 is correct 

125. With reference to the 'HAUSLA— 2018' which of 
the following statement(s) is/are correct? 
1. 'HAUSLA —2018' was organised by the 

Ministry of Women and Child Development, 
Government of India in New Delhi. 

2. It was National Festival for Children of Child 
Care Institution. 

Select the correct answer from the codes given 
below. 
Codes: 
(a) 1 only (b) 2 only 
(C) Both 1 and 2 (d) Neither 1 nor 2 

126. Given below are two statements, one is labelled 
as Assertion (A) and the other as Reason (R) 
Assertion (A): Indian federalism is called 'Quasi-
federal'. 
Reason (R): India has an independent judiciary 
with power of Judicial Review. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) Both (A) and (R) are true and (R) is the 

oorrect explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true  

123. cii (i~ki) tp 

(a) 4c)  c4)  

(b) ThfiT 
lcT RT 

(c) lI.ccb 3u çfl a ff 1iaif  
3 rr 

(d)  

124. IRT iii i 11-lftcd 

1. TfTc Tfl  

ci1 -Ik'1 T11T  1$i 
3T li I 

2. ii41 cii rir *rrr 
3U c4.  I 

(a)T 1rt 
(b)2 
(c)  
(d)  

125. 'T-2018' tt 

1. 'T-2018't3TRIk- TcfTE 
I[TH 11Ic14, '4TT cbR RT 

ii ?.TT I 
2.  

Ul .c*1c1 2Jf I 

(a)1 (b)2 
(c) 1 31 2 ct (d) t1T2 

126. -fli t R i   , fH 4-,  (A)%ff 
 c4(Uj (R)T I4i 

4Lc4c* ) 
T '1IdI I 

ctui (R) :  .cçj4 I4lIcI,i 

.-qI11cb .114OTUT T 3TftR I 

(a) (A)31 (R).i1 aTh (R), (Ayt[ 
oR91I T 

(b) (A)3 (R) t (R), (A)i1 
o1ft94[ 1 1T 

(c) (A) 1c'1 T{ (R) iii 
(d)(A)lfticl (R)1c
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• India aims to achieve the 5 trillion dollar 
economy by 

(a) 2022 (b) 2024 
(c) 2026 (d) 2030 

128. Joint sitting of Lok Sabha and Rajya Sabha can 
take place to resolve deadlock over 
(a) Ordinary Legislation 
(b) Money Bill 

(c) Constitutional Amendment Bill 

(d) Appropriation Bill 

129. Human Development Report 1997 introduced 
the concept of Human Poverty Index (HPI) but 
Human Development Report replaced it with 
Multidimensional Poverty Index (MPI) in the 
year 
(a) 1999 (b) 2005 
(c) 2010 (d) 2015 

130. Which of the following gave legal basis to extra-
ordinary powers exercised by the Government 
of India during Lockdown? 
1. Mental Health Care Act, 2017 
2. Disaster Management Act, 2005 
3. Enemy PropertyAct, 1968 
4. Epidemic Diseases Act, 1897 

Select the correct answer from the codes given 
below. 
Codes: 
(a) 1,2and3 (b) 2, 3 and 4 
(c) 2 and 4 (d) 1,3and4 

131. Given below are two statements, one is labelled 
as Assertion (A) and other as Reason (R): 
Assertion (A) Government has launched the 
'National Infrastructure Pipeline (NIP)' for period 
of 2020-30. 
Reason (R) The objective of NIP is to provide 
equitable access to infrastructure for all. 
Select the correct answer using the codes given 
below. 
Codes: 
(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

RFL—I 

127. RT5I SM3 TTTTc d44Ik 

' 
(a) 2022 (b) 2024 
(c) 2026 (d) 2030 

128. H1ft1 RI  ?c4-,kl c93 

(a) 1II-T 

(b) 4RJ 

(c)  Tr1 it 

(d)  

129. Hc lfl c4)jq, (TT.tfL3IT.) t 3T4R°T  
r1 ft 1997 E 'ifi, fTinii Pctii 

iftuifl c4j (1tft 3:1T)  

(a) 1999 (b) 2005 
(c) 2010 (d) 2015 

130. 'iTi4' • cj4 WcbI1 R1 31Rt 3TTE.TWT 
cHr1Rd 

4Ik1 

1. 1ZT -T  2017 
2. 1ti* 1'iik  2005 
3. IT ifft 3T'Tf1  1968 
4. 111     1897 

(a) 1,23ft3 (b) 2, 3 a:fp: 4 

(c) 2 31 4 (d) 1,33fP4 

131. 
t4-iRUI (R)TTP1T: 

(A) : ' IIT NIId 'I4'tI4 (E.311.tU.)' 
c4.  I[ 202030 r 1ll 

TPlTl 

Iu((R) :i .ajft. ITH1 1 1lTh1 IIId 
iiki c*)thil I 

- frt I 

(a) (A)4T(R)-i 1c43(R), (A)c1lf 
TT 

(b) (Ay?f%TT(R)-ii 1R(R), (A) 

(c) (A) - 1 11 (R)I'1d 

(d) (A) Itc1 1lk•  (R) I1 
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132. Match List - I with List - II and select the correct 
answer using the codes given below the lists: 

List—I List—Il 
(Article) (Provision) 

A. Article 61 1. Removal of Deputy 
Chairman of Rajya 
Sabha 

B. Article 67(b) 2. Impeachment of 
President 

C. Article 94 3. Removal of Vice-
President 

D. Article 90 4. Removal of Speaker 
Codes: 

A B C D 
(a) 2 4 3 I 
(b) 3 2 4 1 
(c) 2 3 4 1 
(d) 4 1 3 2 

133. With reference to the World Bank's Ease of 
Doing Business Report, which of the following 
statement(s) is/are correct? 
1. In Ease of Doing Business Report 2020, 

India's rank is 63. 
2. India ranking for Ease of Doing Business in 

the year 2019 was 77. 

Select the correct answer using the codes given 
below. 

Codes: 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2 

134. On which of the following dates, Constituent 

Assembly of India adopted the National Flag? 

(a) 22 January, 1950 

(b) 24 January, 1950 

(c) 22 July, 1947 

(d) 22 July, 1948 

135. Limit of investment for outstanding corporate bond 
for Foreign Portfolio Investment in Union Budget 
2020-21 has been extended upto 
(a) 9% (b) 10% 
(C) 12% (d) 15% 

136. In which of the following places the Bio-technology 
Park is located in Uttar Pradesh ? 

(a) Kanpur (b) Ghaziabad 

(c) NOIDA (d) Lucknow 

RFL-I 

132. 
"v 

A. 

B. 

C. 

91—ll 

(3iI) (ITI1I) 

3 - ç61 1.  th- 

1l 

67(e) 2.  ' TrTfT 

3 - 194 3.  utç.1' ) ii 

D. 90 4. H1 

A B C D 

(a) 2 4 3 1 

(b) 3 2 4 1 

(c) 2 3 4 1 

(d) 4 1 3 2 

133. 14  1 3lT' i Riii ftt 

1.   rft2o2o T 
63fQITR I 

2.2O19i 3I 
7711 I 

(a)1 (b)2 

(c) 1 3 2 l' (d) 112 

134. 

f31I1I ? 

(a) 22 '*il, 1950 

(b) 24'*ici1, 1950 

(c) 22 'ii, 1947 

(d) 22 'ii, 1948 

135. - 2020-21 it cti.iD  if 

(a) 9% (b) 10% d 

(c) 12% 1cI (d) 15% dcb 

136. ti-~cii'fl  

(a) (b)  

(c) ii (d)  
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137. 

(1'*i) 
A. 3ffl1 T 3T1Th 
B. T ii 
C. tfLir. l41lR )c1I1 Ri 
D. 3T1rR 

A B CD 
(a) 2 3 1 4 
(b) 1 2 3 4 
(C) 2 3 4 1 
(d) 2 4 3 1 

1.  2015 
2.  2018 
3.  2017 
4.  2014 

(b)2 

(d) i112 

Match List — I with List — II arid select the correct 
answer from the codes given below the lists 

List—I List —Il 
(Scheme) (Launching Year) 

A. P.M.JanArogyaAbhiyan 1. 2015 
B. P.M.VayaVandanyojana 2. 2018 
C. P.M. RojgarProtsahanyojana 3. 2017 
D. Swachh BharatAbhiyan 4. 2014 
Codes: 

A B C D 
(a) 2 3 1 4 
(b) 1 2 3 4 
(C) 2 3 4 1 
(d) 2 4 3 1 

141. With reference to the programme "NIDHI" which 
of the following statement(s) is/are correct? 
1. The programme of "NIDHI" was started for 

students to begin start ups. 
2. Its aim is to financially support 20 students 

for start up in each year. 

Select the correct answer from the codes given 
below. 

Codes: 
(a) 1 only (b) 2 only 
(C) Both 1 and 2 (d) Neither 1 nor 2 

A -27- 

138. The Development, Monitoring and Evaluation 
Office, which monitors the progress of long term 
policies in an attached office under 
(a) Prime Minister Office 
(b) Ministry of Home Affairs 
(c) Cabinet Secretariat 
(d) NITI Aayog 

139. Which one of the following is NOT a green house 
gas found naturally in the atmosphere? 
(a) Nitrogen oxide (b) Carbon dioxide 
(c) Methane (d) Ozone 

140. Which of the following statements is NOT correct 
for National Pension Scheme for Retail Traders! 
Shopkeepers and Self-employed persons? 
(a) Those who are in age groups of 18 to 40 

years are eligible. 
(b) Their annual turnover should not exceed 

1.5 crore rupees. 
(C) National Pension Scheme's member are 

also eligible. 
(d) It has a monthly minimum assured pension 

of Rs. 3000.00. 

138. 3It1T 31 1c.1 I4k1 

,  
3iT1T 3T ? 

(a) i.ii-i1 cki 
(b) 1 41l14 

(c) vc1  

(d) -Iu1I 3TP-fti 

139. r1rd b iifr  
? 

(a) Ilst.i 3-ilctdi (b) Tf  
(c) rH (d) 

140.  

? 
(a) 1840  3ciJ I1I 4I1 I 
(b) .34I ffcb +- (4a) qrj i.st 

3T1 I 

(d) TTT 3000.00 T iF-ic* pi 

141. 'ft1" cI)l4 i 

____ 1. 1" 

2. T 20 
fft -lI1l 4*1I I 



142. Generally, environment can be classified as 
following categories. Which among the following 
is NOT a part of such category? 
(a) Operational Environment 
(b) Physical Environment 
(c) Cultural Environment 
(d) Biological Environment 

143. Given below are two statements, one is labelled 
as Assertion (A) and other as Reason (R): 
Assertion (A) The Union Budget 2020-21 
has focused on Rural Development with aim of 
doubling farmer income. 
Reason (R) : The 16 Action points announced 
in the budget is centred around agriculture, 
irrigation and rural development. 
Select the correct answer from the codes given 
below. 
Codes: 
(a) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

144. The concept of Ecological Transition' was first 
used by 
(a) Elton (b) Bennett 

(c) Berkeley (d) Ratzel 

145. The Travel and Tourism Competitive Index (TICI) 
is released by 
(a) World Bank 
(b) International Monetary Fund 
(c) World Economic Forum 
(d) United Nations Development Programme 

146. Which of the following are the impacts of Global 
Warming? 
1. Rise in sea level 
2. Metii of glaciers 
3. Spread of diseases 
4. Bleaching of Coral reefs 
Select the correct answer using the codes given 
below. 
Codes: 
(a) 1,2 and 3 only (b) 2 and 3 only 
(C) 1, 3and4only (d) 1,2,3and4  

RFL —I 

142. *1IHfrqd41 L4c44UI t il'-{ cbR cif1 1I fl 
14'(1I I 1.1r1rd T 

T3T1R? 

(a) 1kiii 'i4cRuF 

(b)  
(C) iI II '41c1(UI 

(d) 444.UI 

143.  (A11 
4R"1 (R) ii TH 

R(A): '- 2020-21  
m 1i tmr 

1T TP11 * I 
cut (R): d'i1 }P1 16 *j  c4I4bH  fTT 

TU 4l1 fc4 ;)Rc1 * I 

-  1  T  31k T v4*1 clr I 

(a) (A)IT (R)cl-1 kc*T11(R),  (A)1 
o4I9ll c4'.dI 

(b) (A)TlT (R) c-) ic1 'ik-cj, (R), (A)t  
1I4I i1 c4.cII 

(c) (A) 4* 1 (R) 4 ftict * 

(d) (A) Mc1 * -cj, (R) *4c4 

144. 'TftfTr ui' &iii T 5T 1F11 
Tz11 

(a) '-i u (b) k RI 

(c) (d) c -I I4.I 

145.   jkri.i MII1c1IcH e,iq)  (..3lj) 

'iif fii IIc1I 

(a) 1c4   RI 

(h)   c Ikr 

(c) 14cj 3fff4 T  

(d) k1*c1 4J  ¶c4)Ik{ c4lH RI 

146. Rlc1 i1-t-T (1i Ti) 
T 5flTT * ? 

1. itj 'lc1 1T T Ai 
2. *iI T Iici.ii 
3.  
4. i1 i 11'311 1I 

i1 3Ik T ;1l  -  R 

(a)1,233 (b)233 
(c)1,334 (d) 1,2,334 
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/147. Consider the following events and arrange them 
in chronological order: 

1. Establishment of NABARD 

2. Self Help Group Bank Linkage Programme 

3. Kisan Credit Card Plan 

4. Establishment of Regional Rural Bank 

Select the correct answer from the codes given 
below. 

Codes: 

(a) 4, 1,2,3 (b) 4,2,3,1 

(c)1,2,3,4 (d) 4,32,1 

148. Arrange the following events in chronological 
order and select the correct answer from the 
codes given below: 
I. Rio Earth Summit 
II. Publication of Brundtland Commission Report 

Ill. Enforcement of Montreal Protocol 

IV. Publication of 'The Limit to Growth' Report 
Codes: 

(a) I, l'J, Ill, II (b) l\J, II, III, 
(c) l'V, Ill, II, I (d) I\/, I, III, II 

149. With reference to the Skill India Campaign, which 
of the following statement(s) is/are correct'? 
1. Prime Minister had launched the Skill India 

Campaign in July 2015. 
2. The main objective of this Campaign 

was to train India's Youths in information 
technology. 

Select the correct answer from the codes given 
below. 

Codes: 
(a) 1 only (b) 2 only 
(c) Both I and 2 (d) Neither I nor 2 

150. The National Chambal Sanctuary does NOT fall 

in which of the following States? 

(a) Uttar Pradesh (b) Madhya Pradesh 

(c) Haryana (d) Rajasthan 

RFL —I 

147. 1lHrrd 4i3 i: 

bM5bIR rfTT 11i: 
1.  

2. *c4 1V4II c4I4b1 

3.  

4) p 4.  

- I 

(a) 4, 1, 2 ,3 (b) 4, 2,  3, 1 

(c) 1,2,3,4 (d) 4, 3,  2, 1 

148. 13 

ZT -fl 1 

I. rk4) fr 

II. 3TTF ftI r  

Ill. 4T1k1 1IfT 

IV. ' rdr 

(a) I, I'!, Ill, II (b) IV, II, III, I 

(c) I"!, III, II, I (d) l\f, I, III, II 

149.  

1. ii l ari i-ifi 
'ii 2015  I 

RU d -fl i 5tfTT R1 2T I 

(a) T 1 (b) 2 

(c)132-) (d)RI1t2 

150.  

? 

(a)1kT (b) tT5IT 

(c) kiiuii (d) TTFI 
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1. '%1TTf' '.*.i -PT Wr ? 
(a)  

(d) 

2. i1iRi i ',tq' i- si 
c1! ? 

(a) i'-i-ii 

3.  

(a) ifti c) r (b) {1 
(c) t1tR :1 (d) 

4. 'wi' 

(a) (b) o# 

(C) 3FET -j4-4 (d) w*i  

5. Tf 1I1 TR 

(a) '' T T ITT, ft1iTr c - 
(b) '' 1H  

(c) '' Ttq '' ii 

6. 

(d) '' T?-T '' T 5P1Tr 

fifti f 
cU ? 

clU? i '31' ctl{-ff 

(a) 'i', '' (b) 'ak', '3T:' 
(c) '3T', '3' (d) '','' 

7.  91; t? Iiflsii qu 

(a) '' (b) '' 
(c) '' (d) '' 

8.  'aii ' ir i)1;i i * 
(a) 3ft j- 
(b) uf 
(c) i-u rrr 

(d)  aTfT iiii r )-n 

(b) i4 
(d) T 

RFL—II 

19j3jf: 

3tfrftr IJ I 2flT 

3J ' iRT 
I" "4 3Tfij -1 , t4 

*, r 3 ri* I"  
T , 31R ftER 'H-lI , IH 3 3flR lIk1  

• It IT,  

ia1TIT,  

9. fTT IITT *? 
(a) kT T (b) ijfr 
(C) oq1 1-cj (d) qu1 

10. ? 
(a) wrr 

(b) r 

(C) 39TfiI 

(d) 

11. 

(a)  

(b)  

(c) c4f 
(d)  

12. 

ff * 
(a) T,  

(b)  

(c) T, 1H 3Th 31R 

(d)  

13.
? 

(a)  

(b)  

(c)  

(d) i  
A
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20. '4.IkuI'  T t 
(a) "HR' 

(b) 'II' 

(c) '' 

(d) '3T' 

RFL—II 

4 'Lfq'  T 3 t 
(a) '3i'M 

(b) 'c4ft11 

(c) 4IIIUI 

(d) icllq 

15. 'i 1 i—T I I141Ul ? 

(a) 4Wi (b) i 

(c)mftT 

16.  

(a) '' (b) '' 

(c) '' (d) '3Rt' 

17. I.iRiRcf  it c*1-1 l'4  1cRlHII. 

(a) %T, cfl 'ii t l.1:!T *llcll ' I 

(b) T%T ! i:fl  '1I t flçfl 

(c) T, HtN11IdI 

(d) t% I  i I •IJT 1 I MR1I I 

Instruction for Question Nos. 21 to 25: 

Read the following passage carefully and answer the following questions that follows: 

Education is a device for helping a man to grow to his full stature. It enables him to realize his nature both mentally 

and spiritually and in that realization to become all that he has it in him to be. It is to the child what perfect gardening 

is to the tree, a help so to grow that it may develop its own personality. A good gardener helps each plant to put 

forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty 

in the world. The good education performs a similar office for the human being. 

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more 

exciting. He is able to see in it more beauty, more variety, more scope for his sympathy and understanding than 

he saw before. So far as the understanding of the universe is concerned while education diminishes certainly of 

what is, it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of 

workshop, factory and office to a universe of mystery and treasure house of beauty. 

21. Education enables a man 22. Wnat an educated man is able to see in the world? 

(a) To realize his nature both mentally and spiritually 
(a) Mountains, hills and bushes 

(b) Roads, meadows and inns 
(b) To become a gardener 

(c) To be physically strong 

(c) More beauty, more variety, more scope for his 

sympathy and understanding than he saw before 

(d) To become a successful person (d) Rivers, lakes and rocks 

-3- 
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23. The passage "universe of mystery and a treasure 

house of beauty" means 
(a) Helping a man to develop the best in him 
(b) Universe full of mysterious and beautiful things 
(c) Education of universe makes a man wise 

and beautiful 
(d) Education of universe makes him bounteous 

and large hearted 

24. What is the work of a good gardener? 
(a) To help each plant to take water 
(b) To help each plant to put forth the essential 

quality of its own 

(c) To help each plant to grow 

(d) To help each plant to be green and healthy 

25. The world becomes a larger place and the more 
exciting 

(a) For a wrestler 
(b) For a thief 
(c) For a cheat 
(d) For a man of trained faculties and developed 

tastes 

26. In the sentence, "he finished the job at one go", 
the word 'go' is 
(a) Verb 
(b) Noun 
(c) Adverb 

(d) Adjective  

29. Which of the following word is wrongly spelt? 
(a) Correspondence 
(b) Conscience 
(c) Occurrence 

(d) Conveneince 

30. Change the sentence "let it be done at once" into 
active voice. 
(a) Let it happen at once 
(b) Do it atleast once 
(c) Let it occur at once 
(d) Do it at once 

31. Punctuate the following sentence: 
"Whatever is is right." 
(a) Whatever is. Is right? 
(b) Whatever. Is is right. 
(c) Whatever is, is right. 
(d) Whatever, is, is right 

32. Choose the correct conjunction from the following 
options to complete the sentence  
"He got he was ill" 
(a) Until 
(b) Because 
(c) Although 
(d) If 

27. Change the sentence "I never eat meat, he 
explained" into indirect speech. 
(a) He explains that I eat meat 
(b) He explained to eat meat 
(c) He explained that he never ate meat 
(d) I explained that he never eats meat 

33. "White elephant" means 
(a) A rare object 
(b) An uneconomical Possession 
(c) An object that does not exist 
(d) A useful possession 

34. Choose the correct synonym of the word 
'abominable'. 
(a) Disgusting 
(b) Cold 
(c) Abusive 
(d) Hot 

28. The word 'rendezvous' means 
(a) Endeavour 
(b) A place appointed for a meeting 
(c) A secret place 
(d) Adventure 

A 

35. 'In the pipeline' means 
(a) In the process of being developed 
(b) Partake 
(c) Pinnacle 
(d) Prions 

-4- 



3. Which of the following is NOT an interpersonal 
barrier in organizational communication? 
(a) Ethnocentrism 
(b) Semantics 
(c) Ingratiation 
(d) Impression management 

37. Highest degree of communication openness is 
found in 
(a) Informal communication 
(b) Meta-communication 
(c) Direct communication 
(d) Indirect communication 

38. Which one of the following behaviour is the most 
appropriate for diffusing verbal abuse of co-workers? 
(a) Become defensive 
(b) Get into debate 
(c) Refuse to accept harmful language 
(d) Keep aggressive body language 

39. Proxemics' is related to 
(a) Neutral Communication 
(b) Unidirectional Communication 
(c) Verbal Communication 
(d) Non-verbal Communication 

40. The key element for effective interpersonal 
communication is 
(a) Abstraction 
(b) De-sensitization 
(c) Active listening 
(d) Ego-centric reinforcement 

41. Which one of the following is related with 
organisational ecology? 
(a) Centralized Communication 

(b) Upward Communication 

(c) Lateral Communication 

(d) Downward Communication 

42. Smita reckoned sixteenth from the top and 
twenty-ninth from the bottom among those who 
have passed an examination. Six students did 
not appear in the examination and five failed in 
it. How many students were there in the class? 
(a) 40 (b) 44 
(c) 50 (d) 55 

43. Ravi started walking towards East. After moving 
a distance of I km, he turned Southwards and 
walked 5 km. Again he turned to East and walked 
2 km. Finally he turned to the North nd walked 
9 km. How far is he from his starting point? 
(a)7km (b) 5km 
(c)4km (d) 3km 
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36. WI&1Icicb 4UI 1I1iT 

(a) 31T1 i 

(c)  
(d)  1WT 

37. 11WI cI'c1[ T -i14 3TT '1II '311c11 - 

(a) 3u1 111 1llr4ul i% 

(b) _44ju1 

(C) Mclt kll lUi i4 

(d) 

38. 111ftcd olk 

(a)  
(b) T? 11ET i  

(c) I1IRb TI it kR c4 R 

(d) iiii TT 1I 

39. 'wfl'' (i)1t 
(a) 14UI 

(b) ib &9 

(c) I4-1UI 

(d) 3iIlR 

40. TEI 1dCI fUl I T dc4 

(a)  
(b) ccUl 

(c) ul 

(d) 3lIcHRT c1cMuj 

41. [1R1Rslc1 c —i l&1Ic  ft1i 
WI ____ 
(a) _____ 
(b) l 

(c)  
(d) 1WI 

42. 16
291T i:fit 

iif 
ll 

(b) 44 (a) 40 
(d) 55 (c) 50 

43. iiii WI T, 1 f.*. -tMl 

c1b '1ldl 3t 5.T11 

1iI tIT: 3 2& clvlcll 

%  
t1c1I I R kfE 

(a) 7l.41. (b) 
(C) (d) 31.'ft. 
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(a) 

00 (c) 

(b) (b) (a) 
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44. Which one of the following diagrams properly 
represents the relationship among 'Body', 'Ear', 
Mouth'? 

45. Four men A, B, C, D and four women W, X, Y, Z 

are sitting around a table facing each other. If 

I. No two men or women are sitting together. 
ii. W is to the right of B. 
iii. Y is facing X and is to the left of A. 
iv. C is to the right of Z. 

Then who are the two persons sitting adjacent 
to 0? 

(a) Wand Y (b) X and W 
(c) X and Z (d) W and Z 

46, In a certain code, 15789 is written as XTZAL 

and 2346 is written as NPSU. How will 23549 be 

written in that code ? 

(a) NPTUL (b) PNTSL 
(c) NPTSL (d) NBTSL 

47. Find the missing number in the following figure: 

04 05 06 
02 03 07 
01 08 03 
21 98 

(a) 94 (b) 88 
(c) 92 (d) 86 

48. Which one of the following refers to the framing 
effect' in the context of decision making ? 
(a) The way in which options are presented 

influence the selection of option 
(b) Choosing the option having highest 

expected utility 
(c) A kind of set points of thought in wrong 

direction 
(d) Looking for evidences that will confirm what 

are currently believes 

44. Tf'r' i4', "' 

45. 

ch i lf 
i. 3T T T—Efl i 

' I 

ii. I 

iU. Y, X A I41 r14  
iv. I 

? 
(a)Wiy (b)X1W 
(c)XZ 

46. 15789X1ZAL2346 
c) NPSU  I fl  
2 3549 fRT 3ITTJT ? 

(a) NPTUL (b) PNTSL 
(c) NPTSL (d) NBTSL 

47. ffif 3IT 3TE i 

04 05 06 
02 03 07 
01 08 03 
21 98 ? 

(a) 94 (b) 88 
(c) 92 (d) 86 

48. u1 'T r' Pf111 
9T ? 

(a) lf ifr r r,   c) 
NTf11 q'kcii 

(b)  

(c)  fii 
(d) 31T T f1 
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49. 1fl 31 1*ictd WI 
 cRl 

iicf1 % 
(a)  
(b) qc1I'bdI 

(c) __ 

(d)  3cljI~,c1I 

50. 
c4iIcfl 

(a) licHb 

(b) t1IIcHc1 ft 

(c) oI  

(d) 1UIIc14 

51. 

(a) ifii t 3RTii (b) ftT 

(c) i%T?tT (d) iii4l*{ 

52. l.ikb 3R1 Ik Zt1 

1c4,4 OI'-I i'd 1l t1 

(a) I4t 

(b) 3 3R1%TR TT 
(C) JT 11 
(d) 

53. 1T1TTt 
(a) 3nTI 1ft1' j1t t 

(b)  
(c) 1I'i Ict1 T 

(d) T1 d4)cI'c4 t 

54. iiRci i 1i13R 111I3R't 

I1 'iid) ? 

(a) Ilcb 'f 
(b) WIIcH 

(C)  - ft u1c1i3 i 

(d) ci14- 

55. -

T3RTTft? 

(a) 72 (b) 84 

(c) 68 (d) 66 

The tendency of members in a highly cohesive 
group to lose critical evaluative decision 
making capabilities is called 
(a) Group think 
(b) Assertiveness 
(c) Group polarization 

(d) Cognitive dissonance 

50. The decision making style that "overly concerned 
with keeping everyone happy" is called 

(a) Conceptual style 
(b) Directive style 
(c) Behavioural style 
(d) Analytical style 

51. Wnich oneof thefollowing is NOTa ruleforestimating 
the likelihood of outcomes of any decision? 
(a) Assessing utility (b) RepresentativeflesS 

(C) Availability (d) Adjustment 

52. In a valid standard form of categorical syllogism, 
if predicate term is distributed in the conclusion, 
then it must be distributed 
(a) in both the premises 
(b) in minor premises 
(c) in major premises 
(d) in none of the premises 

53. Probability is an attribute of 
(a) An inductive argument 
(b) A deductive argument 
(c) Disjunctive proposition 
(d) Categorical proposition 

54. Which of the following decision makers are tend 
to be good at discovering creative solutions to 
the problems? 
(a) Directive style decision makers 
(b) Analytic style decision makers 
(c) Conceptual style decision makers 
(d) Behavioural style decision makers 

55. What number would come in the place of 
question mark? 

(a) 72 
(c) 68

(b) 84 
(d) 66  

RFL— II 
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56. If A' is B's sister, 'C' is B's mother, D' is C's father, 

'E' is D's mother, then how is A related to D? 

(a) Grandfather (b) Granddaughter 
(C) Grandmother (d) Daughter 

57. If you write down all the numbers from ito 100, 

then how many times do you write 3? 
(a) 20 (b) 11 
(c) 21 (d) 10 

58. Choose the odd pair of words: 

(a) Volume: Litre (b) Pressure: Barometer 

(c) Length: Meter (ci) Resistance: Ohm 

59. Read the following statements: 
I. Rama is older than Sonam. 

II. Poonam is older than Rama. 
III. Sonam is older than Poonam. 
If the first two statements are true, then the third 
statement is 
(a) True (b) Uncertain 
(c) False (d) None of the above  

56. 'k 'A', B t i t, 'C', B 4 'iT , 'D', C 
t, 'E', D ctl 'iTs, AT D eti, 
(a)  (b) tM 
(c)  (d) h!) 

57.  3ITq 1 100  c1 1F&t , 

ffi'Fff R 3 ftT& ? 
(a) 20 (b) 11 
(c) 21 (ci) 10 

58.  

(a) 31T : (b) ç  
(c) 41 (d) art : 

59.  

I. trr, I 

II. I 

III. I 

(a) -ic (b) 3iffTI 
(c) 3FT (d) 

60. Complete the following series with the correct 
option 
3, 2, 6, 8, 18, 40, ? 
(a) 70 
(c) 72 

(b) 71 
(d) 75 

60. Hrk  
3, 2, 6, 8, 18, 40, ? 

(a) 70 

(c) 72 
(b) 71 

(d) 75 

61. A shopkeeper marks the price of an article 20% 
above its cost price. He offers some discount on 
the marked price and gains a profit of 8%. Rate 
of discount is 
(a) 8% 
(c) 12% 

62. If '+' means '~', -' means 'x', x' means '+' and 
means '-', then 6 ~ 10-4 x 12 + 6 =? 
(a) —32 (b) 32 
(C) —41.4 (d) 48  

61. b 'H( fft '1T 20% 
3T1 3T T t I c4  3Tf 

31t 8%rfl ii I  4) 
(a) 8% (b) 10% 
(c) 12% (d) 15% 

62.  

(a) —32 (b) 32 

(c) —41.4 (ci) 48 

(b) 10% 
(d) 15% 

y x x3 +xy2  
63. If-2----, thenthevalueof  x x3 +y3  

equal to 

(a) 0 

is 63. =2—. 
x 

(a) 0 

x3  + xy2  

x3 +y3  

(b) 

(d) 1 

A 
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• A and B are two sets. A has 10 members and 
B has 18 members. Au B = 20. The number of 
members in An B will be 
(a) 10 (b) 12 
(C) 8 (d) 6 

65. The diagonals of a rhombus are 32 cm and 

24 cm. Its perimeter will be 

(a) 50 cm (b) 60 cm 

(c) 70 cm (d) 80 cm 

66. Two vaables y and x are related as y = 5x + 4. The 
arithmetic mean of x is 10. Arithmetic mean of y 
will be 

(a) 50 (b) 54 

(c) 29 (d) 46 

67. The mean of first twenty positive even numbers is 
(a) 20 (b) 18 
(c) 17 (d) 21 

68. Which one of the following is a paralinguistic cue 
in communication? 
(a) Facial expression 
(b) Gesture 
(c) Tonal pitch 
(d) Posture 

69. In which type of communication network there is 
likelihood of emergence of a group leader but lower 
satisfaction among the member of the group? 
(a) Wheel type (b) Circle type 
(c) Chain type (d) Barred type 

70 Which of the following is an example of organisational 
silence in upward communication? 
(a) Distortion (b) Delay 
(c) Filtering (d) Lack of response 

71. Which of the following is NOT a form of positive 
listening? 
(a) Diagnostic listening 
(b) Reflective listening 
(c) Empathic listening 
(d) Judgemental listening 

72. Which of the following is NOT a communication 
barrier related to noise? 
(a) Perceptual problems 
(b) Information overload 
(c) Dyadic archetypes 
(d) Cultural differences 

RFL —II 

64. A B[ I A 10lTfT1 B 
18TT lAuB=20,AnBlTT 
1) ? 

(a) 10 
(c) 8

(b) 12 
(d) 6 

65. f WN f1U1 32 fl 1 24 

1.4rkHlLl 1II 

(a) 50 4l (b) 60 41 

(c) 70 41 (d) 80 fl 

66.  

T (Hl4I-c1  IRFVT )'II 

(a) 50 (b) 54 
(c) 29 (d) 46 

67. 51114 'fli 1IcH4- '5T TTtT 

(a) 20 (b) 18 
(c) 17 (d) 21 

68. 

(a) icfl4 3[fT 

(b) lc{-l1 

(c) -ci* W 

(d) 3+1I11ftI 

69. fi wui c1c, it •wr 
WITEHT 

1ft ? _____ 
(a)  MI-R (b) cjlc*,Ik [IR 

(c) (1I (d) T1T bR 

70. c- UI 

41.-i i lVI 

(a) rr (b) 1i- 
(c) (d) 311b1I 

71.  
(a) çIct &ET'T 

(b) Rtc1Id &T 

(c) uI 

(d) ¶luTiIc-lb 'AT 

72. -111Rd ci1i-11 ul4. W1TT <14UI i% 

T41 Rt 
(a) 4f-1l1VH'* *-I 

(b) i_ 
(c) lF 34IS1I"4 

(d) k1i .-1clRk 
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1.  

2. ii 

3.  

4. ii 

5. 4I1 
(a) 1,3,5,2,4 
(c) 5,3, 1,4,2 

(b) 3, 4, 2, 5, 1 
(d) 5, 3, 4, 2, 1 

(a) 12 (b) 13 
(c) 14 (d) 15 

(a) 12 (b) 13 
(c) 14 (d) 15 

73. In the communication process, successful 
transfer of message can be checked through 
(a) Encoding (b) Medium 
(c) Feedback (d) Passive decoding 

74. Cross-departmental Committees are the form of 
(a) Optimum Communication 
(b) Upward Communication 
(c) Downward Communication 
(d) Lateral Communication 

75. A man poinng to a photograph says —"The lady in the 
photograph is my nephew's maternal grand-mother'. 
How is the lady in the photograph related to the man's 
sister, who has no other sister? She is 
(a) Cousin (b) Sister-in-law 
(c) Mother (d) Mother-in-law 

76. Find the correct alternative from the following: 
Ocean : Pacific : : Island : 
(a) Greenland (b) Ireland 
(c) Netherland (d) Borneo 

77. Arrange the following in a logical order: 

1. Frog 

2. Eagle 

3. Grasshopper 

4. Snake 

5. Grass 

(a) 1,3,5,2,4 (b) 3,4,2,5, 1 
(c) 5,3, 1,4,2 (d) 5,3,4,2, 1 

78. A monkey climbs a 12 meters high slippery pillar. 
In his first minute, he climbs 2 meters and in the 
next minute, he slips one meter down. In this way, 
how much time will he take to reach the top of 
the pillar? 
(a) 10 minutes (b) 21 minutes 
(c) 12 minutes (d) 11 minutes 

79. Find the number of triangles in the following figure: 

RFL—lI 

73. wui fii 
ri r 

(a) HrT ii (b) mtr w 
(c) 41R1  (d) 1fT 41d'1 Ri 

74 1_4Tft if1i  
(a) if w-ui T 

(b) 3t1Tft -ui  

(c)  
(d) 1Tfk -ui r 

75.  
'Ib ftI i1ii .lfrfl I" 
1ILh  4f1T hI 

, rft1 31 ii fti ? 
(a) ftr (b) 'Hc 
(c) (d)  

76. rrP1 
MlIc1 iiit : cf1. : 

(a)  (b) 
(C) -1kus (d) 

77. tfi t1: 

78. l:ic  12  lT 
ThZt2 1 ft 

xlIdL l 

(a) i0in (b) 21fn 
(c) 12Thr (d) 11lH 

79.  
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8Ô. Match the List— I with the List—Il and selectthe correct 
answer using the codes given below the list: 

List —I List—Il 
A. All men are mortal. 1. Universal negative 
B. No man are perfect. 2. Particular negative 
C. Some students 3. Universal 

are intelligent, affirmative 
D. Some farmers 4. Particular 

are not rich, affirmative 
Codes: 

A 
(a)1 
(b)2 
(c)4 
(d)3 

81. The process of judging some problem situation 
on the basis of its similarity with one encountered 
earlier, is known as 
(a) Anchoring heuristics 
(b) Heuristics of representativeness 
(C) Adjustment heuristics 
(d) Availability 

82. Which one of the following sometimes hinders 
the problem solving? 
(a) Heuristics (b) Mental set 
(C) Analogy (d) Algorithms 

83. Which of the following decision making style takes 
longer time 
(a) Analytical style (b) Behavioural style 
(c) Directive style (d) None of the above 

84. The proportion of various sectors in a pie chart 
is directly proportional to 
(a) Perimeter of sectors 
(b) Angle of sectors 
(c) Area of sectors 
(d) None of the above 

85. Modeoftheobservations 10, 11, 16, 17, 12, 13, 
17, 16, 16, 12, 16, 10, 15, 16, lOis 
(a) 13 (b) 15 
(c) 16 (d) None of the above 

86. The principal use of definition' is to eliminate 
(a) Logical forms (b) Rules of grammar 
(c) Meaning (d) Ambiguity 

87. Any valid standard form of categorical syllogism 
with a particular conclusion and two universal 
premises will commit the fallacy of 
(a) Illicit major (b) Existential fallacy 
(C) Illicit minor (d) Undistributed middle 

A -11 - 

80. —l —ll d 

A. Th 4f 4.RUIflci 'l 1. IT' 

B. -i1 'l 2. 3Io4Ifi i 

C. fn-ff ,I1H l 3. icci.fl icIRlc 

D. iii ;f ici l 4. iiit,fl 

A B C D 
(a) 1 3 4 2 
(b) 2 4 3 
(c) 4 I 3 2 
(d) 3 1 4 2 

81. 1ft w-*ii t fTfr (-1I'HI 4) n41  

(a) 3T4T 

(b) 9TT?tT 
(c) 3R4i 

(d) 3'i1.Tm 

82. i1iftcii   wr1 i 
f—ft TTT c-i Mc11 ' ? 

(a) 1T (b) i.il-i 
(c) iticit (d) tTftftZq 

83. i-iiiRci Ilui.i ' 11T P't4 icii ' ? 

(a) I UlftHc4 (b)  
(c) Iiic (d) ' .ii 

84. i 1  ff wcfl 

(a) uHILY 

(b) vj 

(c)  
(d) dlR 

85. fuñ 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16, 
10, 15, 16, 10T ,1c+ ' 
(a) 13 (b) 15 
(c)16 (d) 

86. r1 IIciuI ' '1TT' c4   4)fl'dI ' ? 
(a) diIc (b) oJb,UI IIT 

(C) 31f (d) 

87. 1ft -i  
I4II   3l1%Th:  1ILfl 

'liit 

(a) 31i[lc1 'T tt? (b) lIcHt 

(c) Ri 3TT (d) 3oliLd '4 

B C D 
3 4 2 
4 1 3 
1 3 2 
1 4 2 



88. The missing number (?) in the following series: 
60, 180, 90, 270, ?, 405 is 
(a) 675 (b) 540 
(C) 360 (d) 135 

89. The age of father is twice that the sum of ages 
of his two sons. 20 years later, the age of father 
will become the sum of ages of his two sons. The 
present age of father is 
(a) 40 years (b) 60 years 
(c) 30 years (d) 50 years 

90. Complete the sequence with the correct option 

from the following codes: 

EGIK: FILO:: FHJL:? 

(a) JGMP (b) JGPM 

(c) GJPM (d) GJMP 

91. How many 4's are there in the following which 
are preceded by 7 but NOT followed by 3? 

59321742697461328741383256 
74395820187463 
(a) Four (b) Three 
(c) Six (d) Five 

92. In a row of boys, ifAwho is 10th  from the left 
and B who is gth  from the right, interchange their 
positions, A becomes 15th  from the left. How 
many boys are there in the row? 

(a) 24 (b) 31 

(c) 23 (d) 28 

93. Arrange the words given below in a meaningful 
sequence: 
1. Presentation 
2. Recommendation 
3. Arrival 
4. Discussion 
5. Introduction 

(a) 3,5,1,4,2 (b) 5,3,4,1,2 
(c) 3, 5,4,2,1 (d) 5,3,1,2,4 

94. 3 men or 7 women finish a work in 32 days. 

7 men and 5 women together will finish the twice 

of this work in 

(a) 19 days (b) 21 days 

(C) 27 days (d) 36 days 

RFL —II 

88. i.1rrd 1I 

60, 180,90,270,?, 405k c,'-d ii (?) 
(a) 675 (b) 540 
(c) 360 (d) 135 

89.  

t 120 icjc1It3 

i1i ' Ik .iiifl I  t 

(a) 40 (b) 60 

(C) 30 (d) 504 

90.  

EGIK: FILO:: FHJL:? 

(a) JGMP (b) JGPM 

(c) GJPM (d) GJMP 

91.  

r3a? 
59321742697461328741383256 
74395820187463 

(a) fR (b) cfli 
(c) : (d) Tci 

92. io 
t4 3Th Bi31 9 Rt.R,  c  

15 

1T'Idtt l ? 

(a) 24 (b) 31 
(c) 23 (d) 28 

93. 

1. ftcJI 

2. i1i 
3. 31PTR 

4. t141 

5. '.iT.w 
(a) 3,5,1,4,2 (b) 5,3,4,1,2 

(c) 3,5,4,2,1 (d) 5,3,1,2,4 

94. 

I 7a 53 I4 

(a) 19R'ut (b) 21fitI 

(c) 27 P.-i) (d) 36 R.11 
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Two trains of length 127 mt. and 98 mt. are moving 

in opposite directions with speed 35 km/hr and 

55 km/hr respectively. After meeting they will 

cross each other in 

(a) 6 seconds (b) 8 seconds 

(c) 9 seconds (d) 10 seconds 

96. 1fx3 +y3 =35andxy=6,x>y,thenvalueof 

(x — y) will be 

(a)1 (b)2 

(c) 3 (d) None of the above 

97. If (x — 1) and (x + 1) are two factors of the 
polynomial x6  — 1, then its other factors are 

(a) (x2  + 1), (x2  + x + 1) 

(b) (x2 + 1), (x2 —x-1) 

(c) (x2 —x+1),(x2 +x+1) 

(d) (x2 —x-1),(x2 +x-1) 

98. A rectangular field is 112 mt. long and 62 mt. broad. 
A cubical tank of edge 6 mt. is dug at each of the 
four corners of the field and the soil so removed 
is evenly spread on the remaining field. Find the 
rise in the level of the field. 
(a) 13.13 cm (b) 11.9 cm 
(c) 12.7 cm (d) 14.24 cm 

99. The radius of a solid sphere of a metal is 
3 cm. How long wire of diameter 4 mm can be 
drawn from it? 
(a) 8.8 mt. (b) 9.0 mt. 
(c) 9.6 mt. (d) 9.1 mt. 

100. Seventeen candidates appeared in an 
examination. The marks of the candidates who 

failed in the examination are 10, 9, 6, 7, 8, 8, 7, 

5, 4, 6. The median of marks of all seventeen 
candidates is 

(a) 6 

(b) 7 

(c) 9 

(d) None of the above 

95. 127 4t? 31• 98 4l c14-cfl !1  IL)d IT13 
4IR 35 1IL/}-J 1T 55    .:4;)  

iifi ? 
(a) 6lu (b) 8u 

(c) 9 (d) 10 

96. x3 +y353xy=6,x>yjt(x—y)T 
Tfl  

(a)1 (b)2 

(c) 3 (d) 

97. i1q x6 -1t uIiu  (x-1)t 

(x + 1), ?t 3t  

(a) (x2  + 1), (x2  + x + 1) 

(b) (x2  + 1), (x2 —x— 1) 

(c) (x2 —x+ 1), (x2 +x+ 1) 

(d) (x2 —x-1), (x2 +x-1) 

98. t 3ii-iiiR cf 4) 112 Tft f21T  

62'ft.* 

ft  Ifi     (c1 

wcii I I11TT I d 

(a) 13.134 (b) ii.g  

(c) 12.7 fl (d) 14.24Tf 

99.  

41  ITIRT 1f dRT1 ii 

(a) 8.8 4k* (b) 9.0  

(c) 9.6 4kk (d) 9.1 f1z 

100.  

IT 3WIf 3T sw-iic* 10, 9, 6, 7, 8, 8, 7, 5, 

4,6 I Th1  HlfcM 

(a) 6 

(b) 7 

(c) 9 

(d)  
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